ol

T
=R L

N & O &

2021 = =0 & LA =HEX

g Al

= _ — d =
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= 1,891,153
< 323,288
s 2,167,107
MAEY FoEH &2 2,645,131 2,669,883
= 550,788
< 155,742
[ia 1,938,601
a2 FFEE 24 594,700 554,800
= 11,400
< 105,420
[ia 477,880
SHE 100,000 100,000
402 RIZ2HXt20l ™ 100,000 100,000
01 212t 2 AL E = (REM ) 100,000 100,000
OXNSHSAL 2,000,000& * 50= 100,000
| =& ol (MEAIY) 100,000 100,000
402 QI2H X201 M 100,000 100,000
01 212t 2 A E = (RERTH ) 100,000 100,000
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SOl DMFIIAMNY 80,000 96,000
< 24,000
i 56,000
402 RI2HX=20l M 80,000 96,000
= 24,000
s 56,000
03 212t &AL S HI 80,000 96,000
O Usi 32 & D™M=FIIAY
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< 24,000
i 56,000
ASHE LUHESS ROIA XA 28,800 28,800
501 X3 28,800 28,800
01 RI”tEXt3 28,800 28,800
OMASHES 2UHEE3 NIAMI(ZHFXR)
9,600,000 35 28,800
Yot A BIETHAH A 100,000 100,000
< 50,000
s 50,000
402 2I2H X201 M 100,000 100,000
< 50,000
s 50,000
02 QI 2 AL EZ (01X THE) 100,000 100,000
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PN FEHEX B
HE: HURRH FOHY £
el FOIEO NXHH 2Y CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 2284 17,100 20,000 A 2,900
OXNFEIEHE & ININEE LHEZA EF
NEIJIEE 2 2III&EE A 17,100,000 17,100
02 & AR I 12,000 12,000 0
OXNEZSZNE HASAY  6,0002 *1,5000H 9,000
OEXNOISZEAMN HLSHALY 500& =6, 0000H 3,000
ANEESE Hel el 28,390 26,670 1,720
201 L2l 23,390 21,670 1,720
01 At 2t 2l 22,730 21,010 1,720
OXNH=x d MRSE S+
258,000& 52 X 1,290
OXNEs=II&E &X 96,000& x100& 9,600
OXEE S&l 8,000& x3H »70 1,680
OXNFI=2HelE EH #& 2,000,000 14 2,000
OXNEZSEZe dE3M R 200,000& x5& 1,000
OXHFel &0tg M=U3l 3,000,000*1& 3,000
ONAZERZLUE =57 & &
3,000,000 x14 3,000
OEXNOS ¥ EAUY 2282 2
660,000 » 14! 660
OEA7Y 500,000 » 14! 500
02 =224l 660 660 0
OSJI=s ¢& 28 7 330& *2,0000H 660
202 odl 5,000 5,000 0
01 = LH o4 1l 5,000 5,000 0
OEXNOISEANZAHXEHE BY &)
20,0003 »2H 502! 2,000
OXNAE=ZSLUE A 20,0003 »2H 50 2,000
OSJIEE g=* 20,0003 x 18«50 1,000
A& 2e 96,015 4,327 91,688
= 9,141
< 26,062
s 60,812
101 1244 dl 9,141 4,327 4,814
= 9,141
04 JIZHHZ2XREES 9,141 4,327 4,814
OX & Zel At elAdt| 9,141
= 9,141
308 XXIEHH SOl A 86,874 0 86,874
< 26,062
[ia 60,812
M3 2SOHEHE & X 2 A I 86,874 0 86,874
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PN FEHEX B
Ha: JARBE FUBY €2
Sl FOIEY NENUN 2Y CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
PEEECE N EENEEE TN 86,674
< 26,062
[ia 60,812
K= THE ALALS 846,880 895,220 A 48,340
201 Let2d] 42,080 90,420 A 48,340
01 At 22l 32,160 83,580 A 51,420
OXNAETMEAAY 8= 2EEI =8
40,0003 *4502 X 18,000
OXNEM=A =& | 8,000& x3H +90 2,160
ONETHEZAMAIY LRFI(EH L MREE
7Y ) 2,000
OXNEMWEA ZEH] 6,000
OZHZ 2 ALY +42
100,000& »20AH 2,000
O8&XNIGXNTE THAL 100,000 x20< = 2,000
02 =24l 9,920 6,840 3,080
OXETHEZAAY 2l RERS
2,480& *4,000A 9,920
202 4l 4,800 4,800 0
01 S LHOIYI 4,800 4,800 0
OXETHEZALALY HRZ=E 20,0002 2 +90 3,600
OMASKH SRFH 20,000% 1«60 1,200
301 LA S 800,000 800,000 0
12 JIEE24 3 800,000 800,000 0
OXNETHE=AAMY =3 XS 800,000
KN ETHEALALY =& 290,587 289,270 1,317
=2 290,587
201 Let24d] 290,587 289,270 1,317
= 290,587
01 At 22l 290,587 289,270 1,317
ORXIETHZALALS AL HI 290,587
= 290,587
NEEHES 2= 596,089 709, 168 A 113,079
= 193,000
< 24,260
s 378,829
ERHFAAY 38,266 43,316 A5,050
201 Yet2 | 15,320 18,560 ~3,240
01 At 22l 14,600 17,600 A 3,000
OEREF=AMY ARIII |X
300,000 = 1CH*23] 600
OE2E =AY E22 HMA 5,000
Oz HetUWAId=E & X EH| 9,000
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PN FEHEX B
xt

Ha: JARBE FUBY €2
ool NNFELH 7E CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 =224l 720 960 A 240
OANE INFALFEANLAHE d2HI) 23
= 30,0003 +2CH+12& 720
202 O4dl 2,000 4,000 A 2,000
01 = LH 4 Hi 2,000 4,000 A 2,000
OE2H=4 88 & ANES XA
2,000,000& 2,000
403 MHXSHHSA=0l& 20,946 19,756 1,190
02 I 2S0CHet A =& 2 & AL H 20,946 19,756 1,190
O2NFLFEANAEH SXZel At
17,473,000& 1 17,473
OE2Y=A J2k RIEs AMY
3,473,000& 14 3,473
SE2YF LAY (EX) 116,000 133,500 A 17,500
< 24,260
s 91,740
401 AIEHIZL 2CHEI 116,000 133,500 A 17,500
< 24,260
i 91,740
01 A& Bl 116,000 133,500 A 17,500
OE2Y CHHAEZE S AY
260, 000& 2004 52,000
< 10,337
s 41,663
OE2Y HUAMES HEA & X2
20,000,000& =23l 40,000
< 7,000
s 33,000
OINXNFHS & AXAMH 600,000& 404 24,000
< 6,923
e 17,077
EXNSEEEANLE 2 41,052 203,352 A 162,300
201 Let24E] 38,052 43,852 5,800
01 At 2t 2l 4,500 10,100 25,600
O32UFE 2E HA Rl 240,000& 53 1,200
OBAFE A28 MUK 7
500,000& 14 500
OSUZEYRE ARIII |
300,000 »2CH »33] 1,800
OXNAEND 228 s FANE= 1,000
02 =224l 33,552 33,752 A 200
O HXNEH SHAMAE X2
4,552, 000& =14 4,552
OEXN.BUFEANAH S22
28,000,000& =14 28,000
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PN FEHEX B
HE: HURRH FOHY £
Sl HEE REade HEHI CEEEED
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
OMESAIXI I ZAF 21 A HI 32,500
= 12,553
[ia 19,947
201 LEt2A | 65, 141 76,439 A 11,298
= 31,008
i 34,043
01 At 22l 64,705 76,003 A 11,298
OMESANXIN BEx=E 50,500
—1.1.21& 50,000
= 26,000
= 24,000
—2AME & 01YaH 500
OMEBAIXI EA 2 2,590
= 2,590
OMESAIXI A& gel 1,408
—MEXAM 77,0003 49 A 308
—S4dxME & Z2EXA 77,000 48 A 308
— SAXNEH L ZNE2E HelH
13,200& 605 792
OMNESAIXI 82 =2 M
50,0003 »140H »22 1,400
OnxZgy el= 27,000& 204 540
OMNESAIRI &2 R 25,0003 405 1,000
OMNESAIXI EHEH HUES P2E 2,534
—EZ2H EX 45,000& x102 450
—22H 432 50,000& =104 500
—ZEH EU 396,000& 4Nl E 1,584
ORSMIASAAAE ANz A
25,0003 *25% 625
ORS4A AN HA 300
ONgRE=S S+ 1,300
OMESAIXI I ZAL E20HAHI 2,508
= 2,508
02 =224l 436 436 0
ORSHANAND SHYER AUNE HME
St E ¢&(SD1) 2,180& *200= 436
202 O Hl 9,509 9,509 0
2 3,009
[ia 6,500
01 = LH 4 Hi 9,509 9,509 0
OMNESAIRXNIN B2 3,009
= 3,009
OEX &2 2,500
OSAMXIL S XA 4,000
HASS o9 &2 g4 &2 1,675,457 1,464,449 211,008
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SAM =
X FH -
o Tt

el

CHE - EI(BA) - NRAY - BYS

Off &t 24

=
i

2

Mo

1,340,365
167,546
167,546

i

0z
L
H
04

A

1,675,457
1,340,365
167,546
167,546

1,464,449

211,008

HH A

1,675,457
1,340,365
167,546
167,546

1,464,449

211,008

301

e
rc
HL
o
oy

HH A

1,042,557
834,045
104,256
104,256

1,078,209

A 35,652

01 MEI2EZE 405z

OFAH=0o

HH W

1,042,557
1,042,557

834,045
104,256
104,256

1,078,209

N 35,652

403 TtXI M SA=01A

HoH W

632,900
506,320
63,290
63,290

386,240

246,660

M H

632,900
632,900

506,320
63,290
63,290

386,240

246,660

0

60,960

64,200

A3,240

60,960

64,200

A3,240

60,960

64,200

A 3,240

23,760

27,000

A 3,240

23,760
19,008
4,752

27,000

A3,240

32,400

32,400

32,400
32,400

32,400

4,800

4,800

400,000& =122

4,800
4,800

4,800
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